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QUESTION 1

What is a purpose of running a virtual fire drill?

A. To test that a specific system in the cluster is a viable failover target

B. To test disaster recovery by switching the service group to the failover target
C. To carry out the one-time configuration tasks required for the service group
D. To test the service group configuration by copying it into the VCS Simulator

Correct Answer: A

QUESTION 2
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What will happen to the notifier if it is correctly configured and the system on which it is running in a multisystem VCS
cluster fails?

A. The notifier will go offline.

B. The notifier will fail over and run on another system.

C. The notifier is in a parallel service group, it will already be running elsewhere.
D. The notifier will be faulted.

Correct Answer: B

QUESTION 3

Which agent entry point is used when running a virtual fire drill?
A. Info

B. Online

C. Offline

D. Action

Correct Answer: D

QUESTION 4

Which two components are installed when the installvcs script is executed? (Select two.)
A. bundled agents

B. VxVM agents

C. Cluster File System

D. GAB driver

E. Cluster Volume Manager

Correct Answer: AD

QUESTION 5
What is the default Veritas Cluster Server Web Console service group?
A. WebService

B. WebConsole
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C. ClusterService
D. ClusterWeb

Correct Answer: C

QUESTION 6

Which command retrieves and archives detailed information about the Veritas Cluster Server configuration?
A. harpt

B. hasnap

C. haconf

D. haget

Correct Answer: B

QUESTION 7

Which resource type attributes can be set in order to tune VCS failover characteristics? (Choose two.)
A. Flags

B. RestartLimit

C. ToleranceLimit

D. OfflineTimeout

E. OfflineMonitorinterval

Correct Answer: BC

QUESTION 8

An administrator wants to create an online local firm group dependency with GroupA as the child of GroupB. What is
used to make this modification?

A. hagrp -link GroupB GroupA online local firm
B. hagrp -link GroupA GroupB online local firm
C. hagrp -dep GroupB GroupA online local firm
D. hagrp -dep GroupA GroupB online local firm

Correct Answer: A
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QUESTION 9

Consider the following configuration:

Qroup Groups |
Fystembist = { Systema =1, SystemB =2}

Autostartlist = { Systema }
Frozen = 1

)

While GroupA is online, all of the systems in the cluster are rebooted simultaneously. All of the systems finish booting
and successfully join the cluster. What will happen to the service group, GroupA?

A. It will start on SystemA.

B. It will remain offline on all systems.

C. It will resume its state before the reboot.
D. It will start on SystemA in a frozen state.

Correct Answer: B

QUESTION 10

What is used to shut down Veritas Cluster Server (VCS) on all nodes for patch installation without affecting the
availability of the applications being managed by VCS?

A. hastop -all -failover

B. hastop -all -force

C. hasys -stop -all -failover
D. hasys -stop -force

Correct Answer: A

QUESTION 11

What does persistent freezing of a service group prevent?

A. notification of resource faults in the service group

B. monitoring of Veritas Cluster Server resources in the service group
C. online and offline operations in the service group

D. adding resources to the service group
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Correct Answer: C

QUESTION 12

A failover service group uses the Process agent to start and stop an application and to monitor a list of processes. After
bringing the group to an ONLINE state on a cluster system, you kill the monitored processes. The Enabled and Critical
attributes of the resource are both set to a value of 1. The RestartLimit attribute for the resource is still set to the default
value. Which action will VCS take?

A. Increment the TotalFault attribute

B. Initiate service group failover

C. Automatically restart the application

D. Take the service group offline without failover

Correct Answer: B

QUESTION 13

Which three resource types can proxy resources reference? (Select three.)
A.NIC

B. IP

C. FileOnOnly

D. FileOnOff

E. ElifNone

Correct Answer: ACE

QUESTION 14

Given the partial main.cf definition:

group GroupA (

SystemList = { SystemA = 0, SystemB = 1, SystemC = 2, SystemD =4}
AutoStartList = { SystemA, SystemD }

OnlineRetryLimit = 3

OnlineRetryInterval = 120)

GroupA is online on SystemA.
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All other systems are up and available.

Where will GroupA fail over to when SystemA faults?
A. SystemA

B. SystemB

C. SystemC

D. SystemD

Correct Answer: B

QUESTION 15

If the host name is changed in the sysname file, which other files need to be modified? (Choose three.)
A. lithosts

B. gabtab

C. littab

D. main.cf

E. types.cf

Correct Answer: ACD
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